
 Answers to Quizzes 1-10   

SBU 2020   

Quiz 1 

1) a) Queen of Spades; b) Ace of Hearts 

2) a) 14  b)  22 c)  13 d)  11 

3) a) South b) East 

4)  Player in the declaring side with the the greater number of points 

5)  When declarer and dummy do not have a suit of 8 or more cards between them 

6) a) 3 b) 6 +A,   K + 9,   J + Q,  10  (4 tricks) 

7)  K 

 

Quiz 2 

1) a) Q b) 3 c) 8 

2)  4 

3)  6 

4)  Q 

 

Quiz 3 

1) a) Run Queen, then 10, then low to 9 b) Ace, then low to jack 

 c) Low to king, finesse jack  d) Run jack, then low to queen 

2)  Hearts. Run queen, then jack, then low to ten 

3) 3   let partner win the trick and lead another big spade 

 

Quiz 4 

1) a) 1NT b) 1 c) 1 d) 1 

2) a) The trump suit/NT b) Who is declarer c) How many tricks he is required to make 

3)  Yes 

4) a) 2 b) 5NT c) 3 

5) a) South b) 10 c) West d) a Response e)  Yes  

 

Quiz 5 

1) a) part-score b) part-score c) game d) part-score e) game f) game 

2) There is no extra bonus for getting to the 5-level, and you must make 11 tricks instead of ten 

3) a) 150 b) 150 c) 450/650 d) 450/650 e) -100/-200 f) -100/-200 g)  1020/1470 

 

Quiz 6 

1) a) The hand is not balanced b) 17 points is too many  

2) a) 1 b) 1 c) 1 d) 1 

3) a) Pass b) 3NT c) 7NT d) 4 

4) a) -650 b) +400 c) -50 

 

Quiz 7 

1) 3 

2) 1NT 

3) 4 

4) a) 2 b) 1NT c) 1NT 

 

Quiz 8 

1) a) Pass                                b)   3NT                          c)   2NT 

2  a) 1 b) 1 c) 1 d) 1NT 

3  a)   2 b) 1NT c)   1 

 

Quiz 9 

1) a) 6-9HCP 4+             b)  6-9HCP  not 4+/ c)   10-12HCP  not 4+/ d)  10-12HCP  4+ 

2  i)     a) Pass                             b) 3                           c)  4  d)   Pass  

   ii)     a) 2  b) 2  c)  4 d)   Pass 

  iii) a) 4  b) 4   c)   4 d)  4 

  

Quiz 10 

1)  a) 1 b) 1 c) 3 d) 3NT 

2) a) 2NT b)  1 c)  2 d)  4 e) 1NT 

3) a) 3NT b) 3NT c) 2 d) 3 

 


